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456 + =710

176 - 49 =

136 + 62 =

1000 - 143 =

156 + 83 =

Q6.

Ajay has 30 pencils.
He shares them equally between 3 pots.

Complete the number sentence to show
how Ajay shares the pencils.




Q7.

Ben has five marbles. o
Kemi has seven times that number. e@

How many marbles does Kemi have?

marbles
Q8.
Ben has 63 beads. He gives 37 beads away.
How many beads does Ben have left? e
Q9.
Kemi goes to four clubs each week.
Which club lasts the longest?
Swimming Art Music Drama
45 minutes 2 hours 75 minutes 1 hour
Q10.
A shopkeeper has 20 fish and 5 fish bowls.
He puts the same number of fish [~ }(’:ﬁ} { — ( — ( —)
in each bowl. = e N N N

How many fish go in each bowl?
fish




